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: 0064 x 625
i 9
1. Whatis /&081x4-34 equal to ?
10
fﬂ.] §§
100
T
(e) 9
(d)y 99
2. (x+4)is a factor of which one of the following
expressions 7
(a) x%-Tx+44
(b) x°+Tx—44
(€ x°-Tx-d4
(d) x°+ Tx+44
8., If o« and P are the roots of the quadratic
equation 2x% + 6x + k = 0, where k < 0, then
what is the maximum value of = + E ?
o
(a) 2
by -2
e} 9
(d) -9
4,  Consider the following statements :
1. If a=be with HCF (b, ¢) = 1, then
HCF (c, hd) = HCF (¢, d).
2. If a=bc with HCF (b, ¢) = 1, then
LCM (a, d) = LCM (e, bd).
Which of the above statements is/are correct ?
(a).  1only
(b) 2only
(¢) Bothland?2
(d) Neither 1 nor 2
BLS-5-FDE

(2-A)

What is the square root of

(03852 +0T0+1

01
295 +0197

(a)
(b)
(e)
(d)

= 2 B2 =

What is the number of digits in 240 ?
(Given that log,, 2 =0-301)

(a) 14
(b) 13
(e} 12
d) 11

If one root of
(a2-Ba+ B x2+(Ba-Dx+2=0

is twice the other, then what iz the walue
of‘a®?

(a) %
W) -,g-
© %

@ - %

What is the remainder when the number
(4444)444 i divided by 9 ?

(a)
(b)
()
(d)

w1 o e
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0-064 = 625 FrE 20

0081« 484

10

{E} ﬁ
100

(h) —
99

(c) 0

(d) 09

(x + 4, Freaferfen =il & @ Frew e
27

(@) x°-Tx+44

() %+ Tx-44

(€) x°—Tx-44

(d) x°+Tx+44

qf o 3 p fgama aftmor 252 + 6x + k = 0, &
k<02 % qa &, @ %+5 =1 Afi=way 9H
R 7

(a) 2

by -2

e 9

d -9

1. A2 a=bc d HCF(b,c)=1, @
HCF (¢, bd) = HCF (¢, d).

2. 4@ a=be § HCF(b,c)=1, @
LCM (a, d) = LCM (c, bd).

9 Al d @ A wE R 2
(a) a1

(b) e 2

(c) 1R 2gH

(d) 1,782

(3-A)

a2
O35)" + 07041 , 419 %1 i frad war

2:95
87

(a) 1

by 2

c) 3

d) 4

940 3 st it e fradt & 2
(f&ar 71 8 56 log, 2 = 0-301)
{a) 14

(b) 13

(c) 12

(d) 11

e T (a® - 5a +3)x® + (Ba - Dx+2=0
%1 T ol qEL Hel I gIAT 8, T ‘a’ W AW
®?

(a) g
b - %
(e) %
) - %

T HEAT (4444)1444 F1 9 § Rl frm s
2, ° Y9he AT AT R ?

(a) 4

(b) 6

(e 7

(d) 8



It 1"||a+b—-,|||lﬂ.—h

9. = , then what i
= Ja+h+u’a—b e11 WihAat 15
bx? —2ax + b equal to (b= 0)?
a) O
b 1
{c) ab
(dy Z2ab
10. What is the value of
(448 + 5472 + (443 - 5472 "
A48 4483+ 54T =547
a) 0
b 1
) 2
(dy 3
1 3
1. I x=t*""1and y=1t""1,t>0,t=1, then
what iz the ;'elatinn between x and v 7
(a) y*=x¥
(b)) xW =yl
(6) x¥=vy"
d) x¥=yl=*
BLS-S-FDE

12.

13.

14.

15.

(4-A)

IfA:B=23:4, then what is the value of the
. [8A% +4B
expression | ———— ?
3A - 4B
43
a i’
(a) 56
43
B e
(b) 55
47
(e) —
b5

{(d) Cannot be determined

If A={x:xis a multiple of 7},
B =[x : x is a multiple of 5} and
C = {x : x is a multiple of 35},
then which one of the following is a null set 7

(a) (A-B)UuC

(b) (A-B)-C
) (ANnB)NC
d (AnB)-C

If x=2+2%8 4+ 2Y8 then what is the value of
x5 _6x%+6x?

(a) 3
(b} 2
e 1
(dy 0

If F=%+J£ and x + y = 26, then what
¥y o X

is the value of xy ?

(a) b

(b) 15
) 25
(d) 30



— e " 2
iR poXEERowR—D o 12. IR A:B=3:4, 55w |35 1B | mam
Ja+b+, Ja-b 3A — 4B?
b - 2ax + b ToFEH S B (b2 0) ? R 7
43
{a} 0 () 55
48
i & ® - =
47
() ab @ 5
o 2k (d) Trewrem &l = Fwa
13, AR A ={x:x, 7 TH T &),
\ ) B = {x: x, 5 % T& U g} 3N
o GOS0 ety | s mmm
x x
At Frafafea 4 @ #=9-a fod ag=m & 2
fa) 0 a) (A-B)UC
(b) (A=B)=C
b) 1
© ANBNC
(@ 2 (d (ANB-C
@ 3 14, IR x=2+228:218 @ x_6x®+6x W
HH FT R ?
(a) 3
1 4 t
= L (b) 2
11, AR x=tt-1 R y=tt"1, t>0,t=1, A s o
c
x 3 y o ooy o HrEey § 7 @ 0
(a) y*=xW 15. ﬂﬁF:%ﬁul-E 3T x + y = 26, @ xy &I
Y
2
(b) el =y1"" :":'W%
fa) &
e =¥ b) 15
(c) 25
@ ==yl (d) 30
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16. What is the solution of the equation
x 1og, {13—”) +10g,y 3 = logyy (2439 +x7
(a) 10
(b) 3
(e 1
d) 0
17. If o and P are t;he roots of the equation
%% + px + q= 0, then what is a? + A2 equal to ?
(a) p%-2q
(b) q?-2p
(e p?+2q
d q*-q
18. If a®=335+D% and a=5+b, then what is
the value of a + b (given thata >0 and b > 0) ?
(a) T.
b) 9
(c) 16
@ 49
19. If 9% 3 = 2187 and 2% 2% — 49 = 0, then
what can be the value of (x + y) ?
(a) 1
(b) 3
€ &
d) 7
BLS-S-FDE (6—

21.

22,

A)

The pair of linear equations kx + 3y + 1 =0
and 2x + v+ 3 =0 intersect each other, if

(a) k=86
(b) k=6
() k=0
(d) k=0

The number of prime numbers ' "', are less
than 100 is 4

(a) 24
(b) 25
(c) 26
(d) 27

The cost of a diamond varies directly as the
square of its weight. A diamond broke into
four pieces with their weights in the ratio of
1:2:3:4. If the loss in total value of the
diamond was ¥ 70,000, what was the price of

the original diamond 7

(a) ¥ 1,00,000
(b) ¥ 1,40,000
(e} ¥ 1,560,000
(d) ¥ 1,75,000

In a 100 m race, A runs at a speed of g m/s. If

A gives a start of 4 m to B and still beats him
by 12 seconds, what is the speed of B ?

(a) g m/s
(b) % m/s
(c) % m/s
@ 3w



16.

17.

18, a9 a®=3835+0% 3 a=5+b, T a+ b

L icTul
10 X
xlog;, T +logy, 3 = lﬂg_lu(2+3 )+ x

FEAFATE ?

(a) 10

b) 3

e} 1

(d)

afe o ot p, wftemtor x% 4 px + q = 0% W E,
o + p? formes s 2 2

(a) p*-2q

q*-2p

) p®+2q

(d q*-q

(b)

THF g (R e aso03Mb>0)?
@ 7 '

by 9

() 16

d 49

19. afe 9%3¥=2187 3k 2% o _4¥_g, &
(x + y) ST HH F91 § Fehal1 § ?
(a 1
(b) 3
¢} b
d 7
BLS-S-FDE

20, e ifg® G kx+ 3y +1=0 3N

21,

23.

{7 ~h

2x+y+3=ﬂ@~3§iﬂﬁmﬂﬂﬁ§,
afg

(@) k=6

(b) k=6

) k=0

(d) k=0

100 § BT HANST F&T=3AT (prime numbers) st
HEAT

(a) 24

(by 25

(c) 26

(dy 27

B H HET 3HH 99 & 9 h IEY JoIH
qREfed B 8 | T B =R 9T H g2 T 3k
THEl % T B A 1:2:3: 48 | 9¢ ER
* P qe T 70,000 T THAA BAT &, °
B AT WRISe qog 7471 91 7

(a) ¥ 1,00,000
(b) ¥ 1,40,000
(e) ¥ 1,50,000
{d}) ¥ 1,756,000

100 m 1 U= ¥ 1§, a,g m/s $ fF B Fga

213 AF g & B, 4 m W (T5w
#R) # dem & Hwr ® o fR off A W
12FFS BRI e 8, Wl BRI fa e R 2

(a) % m/s
(b) % m/s
© % m/fs
@) g m/s



24,

If 15 men take 21 days of 8 hours each to do a
piece of work, then what is the number of days
of 6 hours each that 21 women would take, if
3 women would do as much work as 2 men ?

(a) 18
(b)

(c) 25
(d) 30

25. What number must be subtracted from both
the numerator and the denominator of the
fraction £5 so that it becomes s ?

35 3
(a) 6
(b) B8
() 9
(d) 11

26. A sum of ¥ 8,400 was taken as a loan. This is
to be paid in two equal instalments. If the rate
of interest is 10% per annum, compounded
annually, then the wvalue of each instalment
is
(a) 4,200
(b) T 4,480
(c) ¥ 4,840
(d)  None of the above

BLS-S-FDE

27.

29.

30.

(8-A)

Leela got married 6 years ago. Today her age

is 1itimes her age at the time of her

marriage. Her son's age is 1—];]times her age.

What is the present age of her son ?

(a) 1year

(b) 2years
(c) 3years
{(d) 4 years

A and B working together can finish a piece of
work in 12 days while B alone can finish it in
30 days. In how many days can A alone finish
the work ?

(a) 18 days
(b) 20 days
(c) 24 days
(d) 25days

The wvalues of x which satisfy the eguation
51*% 4 51-% = 26 are

@ -1,1
b) 0,1
) 1,2
(d) -1,0

If 5 men can do a piece of work in 10 days and
12 women can do the same work in 15 dayvs,
the number of days required to complete the
work by 5 men and 6 women is

(a) T%dﬂj’s
(b) 8days

¢y 9 % days

(d) 12 days



24. 4f¢ 8= fafea M *d 8Y 15 IeH vh W
# w21 foq o €, 9 3 w5 = 6 Ue
yfafer +@ gu 21 oid fhmm B & 9o W
arirft, afz 3 ofd, 2 et % ®m % T
H H E 2
(a) 18
(bYy 20
{c) 25
(d) 30

25. fﬁﬂ%%m#ﬁ.aaﬁﬁﬁaﬁuﬁm
m‘a’m,arﬁmz%é‘rm? |
(a) &

(b) 8
(e} 9
@ 11

26. T 8400F UHF g M WA TR WA
e fopwl § e S 8 | Al =ty e
&1 g 10% 9fd @ B St i &9 | Srgr o
g Tas w2
(a} ¥ 4,200
(b) ¥ 4,480
(¢) T 4,840
(d) mﬁﬁﬁaﬁqﬁ

BLS-S-FDE

27,

30.

(9-A)

. (c)

sftenr =1 fomTE 6 @d qd g w1 | A @R
Y, 30+ faar % www i oy 6i 1%1;1_:?(

%lmﬁﬁm,mﬁmﬂaﬁ%{[ﬁ%l

36 g hl SdHE AT R 7
(a) 194
(b) 299
(c) 8o
(d) 47

A 3R BUS 919 F19 =06 UF 1 F 12fm &
HHTS & dhd &, SElh B 3hel 39 S @
80 T o =T weha1 R | 3K W A gL AIW
w1 & fr Ra oo R w1 & 2

(a) 18f&

() 20 f&

(¢ 24 @

@ 25 f&=

T 5% 4+ 51 7% = 26 H HIE FA Aol
x % AH FHA & ?

(a)
(h)

sl
0,1
1,2
@ -1,0
Ife 5 et uF % w10 R § = g €
R 12 3ivd =t F w15 BT A w1 wwd g,

5 ATEHT IR 6 G I FE HI foha &7 &
g BT ?

7ilfem

2

8 f&m
9lfes

2

12 f&m

(a)

(b)

(c)

(d)



31.

32,

34.

BLS-S-FDE

A passenger train departs from Delhi at 6 p.m.
for Mumbai. At 9 p.m., an express train,
whose average speed exceeds that of the
passenger train by 15 kmv/hour leaves Mumbai
for Delhi. Two trains meet each other
mid-route. At what time do they meet, given
that the distance between the cities is
1080 km ?

(a)
(b)
(e) 12 midnight
(d)

4 p.m,

2 a.m.

6 a.m.

In a class of 49 students, the ratio of girls to

boys is 4 : 3. If 4 girls leave the class, the ratio
of girls to boys would be

{a) 11:7
(b) 8:7
() 6:5
(d) 9:8

If a+b=5 and ab =6, then what is the
value of a +b? ? x

(a) 35
(b)y 40
(e} 90
(d) 125

Bajendra bought a mobile with 25% discount
on the selling price. If the mobile cost him
¥ 4,875, what is the original selling price of
the mobile ?

(a) ¥ 6,300
(b)
fc) 6,600
(d)

¥ 6,400

7 6,600

37.

(10-A)

A 225 m long train is running at a speed of
30 km/hour. How much time does it take to

cross a man running at 3 km/hour in the same
direction ?

(a)
(b)

40 seconds
30 seconds
(c) 25 seconds

{(d) 15 seconds

Which one among the following is the largest 7

10
d i
(d) 3
The difference between the simple and the

compound interest on a certain sum of money
at 4% per annum in 2 years is T 10. What is

the sum ?

(a) ¥ 5,000
(b) ¥ 6,000
(¢} 6,250
(d) ¥ 7,500

If a% of a + b% of b = 2% of ab, then what
percentofais b ?

(a) B50%

(b) 75%

(e) 100%

(d) Cannot be determined



& Sﬁ.

31. U war W 6 pm. W gt & g=g & T
T ! B | Uw ueHeE {ormel, e
frgg nfy gar® mE ¥ 15 km/EE NS B,
9 pm. W W A R ¥ fow =edt 1 AT
termieat menwmi § uhem # fredt & 1 2
et fra awm fenh, a2 S w=d ¥ A=
#1 gt 1080 km® ?

(a) 4pm,
(b) 2am.
(¢) 12 U=l
{d) 6am.

39, 49 Frenf¥fat & v wan o, weleat a w=Hl w0
ST 4:3% | 2 4 wefRal wan Oig ot §,
1 erefrl o wigeh! = YT @9 B8 ?

(a) 11:7
by B8:7
(c) 6:5
(d) 9:8

33. ﬂﬁa+b=53ﬁ¥ah=ﬁ,?ﬁaa+b3$rm?ﬁ1
27
(a) 35
(b) 40
(c) 90
(d) 125

34, Teg 4 T go¥ W 25% @2 % WY UH
Hremse @i | Ot SE AeEa T 4,875 °
=i, 9 HETEE 1 ARt e e R 7
(a) T 6,300
(b) T 6,400
() ¥ 6,500
(d) % 6,600

BLS-S-FDE

35.

317.

(11-A)

995 m @ TH IA@ME 30 km/ER F Tl A
o W & | 98 U ASHI W, 9 3 knymy i
T & e % Sew & fawm § s W g, 9%

w0 H foraar aug <t 2
(a) 40 IFUE
(b) 80 TEHUE
(€ 25H=E
(d) 15 9FUS
fafafiaa ¥ & FH-a1 ged w21 8 ?
7
(a) E
i
(b) T2
3
(c) E
10
(d) 13

s g 9T 4% ufe od F e w 299 °, we
gmﬁtmmm?m%lmw
?

(a) ¥ 5,000
(b) ¥ 6,000
(e) 6,250
(d) < 17,600

Ifé a =T a% + b %1 b% = ab &1 2% &, d a &

e wfewa b2 2

{a) B0%

(b) 75%

(e) 100%

(d) Freprer €l S Hehal



39. -gt‘h part of the population in a village are
males. If 30% of the males are married, the
percentage of unmarried females in the total
population is

2

20—

(a) 9
2

(b) 27—
9

7

27—

(c) =
2

i(d) 29_
9

40. Sunil wants to spend T 200 on two types of
sweets, costing ¥ 7 and T 10 respectively.
What is the maximum number of sweets he
can get so that no money is left over ?

(a) 25
(b) 26
(e} 27
(d) 28

41. What is the LCM of x% + 8, x% + 5x + 6 and

xJ 4 dx? 4 4x?
(a) x(x+2%(x+8)(x%-2x+4)
(b) x(x—22(x-3)(x2+2x+4)
(0 (x+2°%x+3)(x%-2x+4)
(d x-22x-3)x2-2x+4)

42. The HCF of two expressions p and q is 1. What
is the reciprocal of their LCM ?
(a) p+q
(b) p-gq
(c) pqg
(d (pg)~?!

BLS-5-FDE

43.

(12-A)

12

What is the value of 4E ?
(a) 1%
(b) 1%
(e) 1%
@ 22

A thief is spotted by a policeman from a
distance of 100 m. When the policeman starts
the chase, the thief also starts running. If the
speed of the thief is 8 km/hour and that of the
policeman is 10 km/hour, then how far will the
thief have to run before he is overtaken ?

(a) 200m
(b) 300m
(e} 400 m
(d) 500m

Aman and Alok attempted to solve a quadratic
equation. Aman made a mistake in writing
down the constant term and ended up in roots
(4, 3). Alok made a mistake in writing down
the coefficient of x to get roots (3, 2). The
correct roots of the equation are

(a) -4, -3
(b) 6,1
c) 4,3
(d -6, -1



39.

40.

41.

BLS-S-FDE

%ﬂhaﬁmwgﬁmwﬁlﬂﬁ

30% 9oy faafga 4, @ Fo wwen H
FAfeanfaa nfgenai =1 gfeer e 2 2

2
202
{a) BB

2

b)) 27—
9

(el 272
9

2

20~
(d) 99

gfie = 200 € vER it fiemal W @d &
wed B, Fm g s T 7 9 210 ® 1
firart it a7 wrfieran e w2, 58 e w
g w91 I 7 7 ?

(a) 25
(b) 26
() 27
(dy 28

x3+8, x° + bx + 6 3R x° + 4x° + dx I
LCM &1 8 ?

(@) xx+22x+3)(x2-2x+4)
(b)
{c)

(d)

x(x—22(x—3)(x® +2x + 4)
(x+2%(x+3)(x2-2x + 4)
(x—2)2 (x—3) (x2 - 2x + 4)

31 =9 p 3 q =1 HCF, 12 | 39% LCM &1
gehd W1 & ?

(a)
(b)
() pg
(d)

Pp+q
pP-q

(pg)~1

43.

(13-A)

12

FHA TR ?
125

—

(a)

(b)

—
]
et
[ =

]
tnlbs e enjpe onjoe

(d)

v faurdl 3w SR & 100 m i g ¥ FafEa
f | v T 3 e Fen wE B, @ €N
oft e = | 3 =0 vfd 8 km/sE @ el
furdl & ife 10 kno/EieT B, @ TS IH ¥ @A

=R =1 et g e g 2
(a) 200 m
(b) 300m
(c) 400m
(d) 500m

I 3R e 4 uE fgam e & ga
w1 W TR | 2 3 Fraa v fed aw
et X & 3R gE (4, 3) e | anE T x
w1 o e e et # G ol qw (3, 2)
frerret | Tl & wet um

(a) -4, -3
(b) 6,1
) 4,3
d -6 -1



46. Consider the following statements :
1.  Of two consecutive integers, one is even.
2.  Square of an odd integer is of the form

Bn + 1.

Which of the above statements is/are correct ?
(a) 1only
(b) 2only
{c) PBothland?2
{(d) Neither 1 nor 2

47. The system of equations 2x+ 4y=6 and
dx + 8By =8 is
(a) Consistent with a unique solution
(b) Consistent with infinitely many

solutions

(¢} Inconsistent
(d) None of the above

48. (NP"'_1)is a multiple of p, if N is prime to p
andpisa
(a) Prime number
(b} Rational number
(¢}  Real number
(d) Composite number

49. The ratio of two numbers is 1 : 5 and their
product is 320. What is the difference between
the squares of these two numbers 7
(a) 1024
(b) 1258
(c) 1536
(d) 1640

50.- 25 kg of alloy X is mixed with 1256 kg of
alloy Y. If the amount of lead and tin in the
alloy X is in the ratio 1 : 2 and the amount of
lead and tin in the alloy Y is in the ratio 2 ; 3,
then what is the ratio of lead to tin in the
mixture ?
(a) 1:2
(b) 2:3
{(¢) 3:5
d) 7:11

BLS-S-FDE

B1.

52.

(14—A)

The mean of 5 numbers is 15. If one more
number 1is included, the mean of the
6 numbers becomes 17. What is the included
number ?

(a) 24
(b) 25
(e} 26
(d) 27

The mean marks obtained by 300 students in
a subject are 60. The mean of top 100 students
was found to be B0 and the mean of last
100 students was found to be 50. The mean
marks of the remaining 100 students are

(a) 70O

(b) &5
{c) 60
(d) B0

Consider the following distribution :

Class Frequency
0D-20 17
20 -40 28
40 - 60 32
60 — 80 f
80— 100 19

If the mean of the above distribution iz 50,
what is the value of £ ?

{a) 24
(b) 34
(e) 56
(d) 96



47.

49.
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Frafefig wuat w fo=m $ifw -

1. oI SHATTE QUi H § UH EE # |

2. Thfam i Sl F gn+1HF T H
forg werd & |

I FHE H B HE-AVE TE BE 2

(a) hae 1

(b) Had 2

(c) 13T 2gHt

(@ Fd 1,982

TR TR 2x + 4y = 6 3 4x + 8y = 8
(a) U g &t & 99 w7 B

(b) HFaa: e Bl < °TY TG 8

(¢) 3TETG B

(@) Iudw ° § wiE T

p G (NP1 - 1) 8, IR N, p & s
BaRptw®

(a) ITHTT GEAT

(b) GiHET HET

(o) ATEdtEaE e

(d) WI=T HEAT

g HEEIA! H I 1: 58 X IR AR
320 8 | 3 4 dEAEl & anl & #" H IR
TR 7

(a) 1024

(b) 1256

(e) 1536

(d) 1640

25 kg TiaTg X # 125 kg fimag Y & @19
fafir o | o2 feng x o o ofie Tm
(1) o1 AT T A9 1:2 7 o fyug v H
Higr 3R G i aEn = EeE 2:3 %, AR
Forsgor & v 3 i 1 ST A A6 2
(a) 1:2

(b) 2:3

e} 35

@ 7:11

51.

52.

53.

(156-A)

5 TEATAT 1 Weg 15 ® | I ww e g
WE) W, Y 6 TS w1 WET 17 8 S |
Wt TE g =R 7

(a) 24
(b) 25
(e) 26
d) 27

et fawg & 300 Frnfiat g wm @Fe e
i 1 SfEa 602 | vEA T & 100 TEEnfeE
% Fehl I TG 80 THET T GAT ARG T+
100 feenfiiat & =l =1 2f|a 50 =T T |
I 1 100 faenfidi & il = ofvma fFaar 2 2

(a) 70
(b) 65
(e} 60
(d 50
fr=fefia dem w fomm Hiftw
7 gt
0-20 17
20— 40 28
40 - 60 32
60 — 80 i
80— 100 19

afe I deT 1 WeT 50 B, A £ H AW F
27

(a) 24

(b) 34

(c) 56

(d) 96



58. Consider the following frequency distribution :
angles 150°, 90°, 60° and 60°. A new pie|
diagram is formed by deleting one of the slices )
having angle 60° in the given pie diagram. In X | Frequency | Cumulative frequency
the new pie diagram
(a) The largest slice has angle 150° 1 8 8
(b)  The smallest slice has angle 70°
(¢)  The largest slice has angle 180° 2 10 18
(d) The smallest slice has angle 90°
3 £ 29
55. In an asymmetrical distribution, if the mean
and median of the distribution are 270 and 4 f, 45
220 respectively, then the mode of the data is
(a) 120
(b) 220
(e} 280 What are the values of f; and f, respectively ?
(dy 370
{a) 10and 17
66. Let a, b,c,d, e, f, g be consecutive even
numbers and j, k, I, m, n be consecutive odd () 1Tand 10
numbers. What is the average of all the (&) 11 and 18
numbers ?
{d) 16and1l
(a) 3(a+n)
2 "
(b) (561 + 7d)
o 59. If D is the number of degrees and R is the
fa+b+m+n) . ’ :
(c) Z number of radians in an angle 6, then which
f the following i 7
(@ None of the above R IR
— (a) nD=180R
57. An individual purchases three qualities of
pencils. The relevant data is given below : (b) =D =90R
. Price per Money (e} nR=180D
¥ | pencil (in ¥) | spent (in ¥) (d) =R =90D
A 1-00 50
B 1:50 X
C 2-00 20 60. What is the minimum value of
24 2n9
It is known that the average price per pencil is S
T 1-25. What is the value of x 7 {a) 6
fa) 10 (b) 9
(b) 30
() T40 () 12
(d) T60 (d) 13
BLS-S-FDE (16-A)

In a pie diagram, there are four slices with




54.

56,

56.

57.
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UF gERE (pie diagram) % IR WFN & IO
150°, 90°, 60° 9 60° & | fau Tu g@@E * 60°
IV el 9F I B H TH AA GG ]
TR | Y g H

(a) HEH T WA H1 HIOT 150° 7

(b) TEH BIE 9T H FHI0 70° 8

(c) HEH &Y WOT H1 HIT 180° 8

(d) HeH BT WO H HI 90°

U NG wed #, Afe §ed 1 ey 9 "iieaen
AT 2709 220 &, o sifenc! &1 wEers w1 @ 2
(a) 120
(b) 220
(c) 280
) 870

HH WU a, b, ¢, d, e, f, g AT TH HEATd &
3 j, k, I, m, n AT foum geand § | wft
HeETH] o1 ey w4 8 7
3(a+n)

2
(5l + 7d)

4
(a+b+m+n)

(a)

(b)

(c)
4
@ e #§ & B

us = @ g 6 e wfien & | gag
stes e fig e #
Tt (T

wid
A 1-00 50

B 1-60 X
C 200 20

Tg 719 & 75 v dfter &1 afted qeu T 126
2| xFIAAENR?

(@) T 10

(b) 30

(e} T4

(d) <60

G

(17

g6 Prefem atacr w2 ¢ e A

x | SRERE et SRETEn
1 8 8
2 10 18
3 f 29
4 k> 45

£, 311 £, % A A F1E 7

(a) 10317
(b) 17310
(@ 113716
d 16311

59. ufz foredt =i o #, D =7Emel i @ R eAl
%1 we B, o Ffafas § @ 9 gey wd
&7

(a) =D =180R
(b) nD=90R
(e} nR=180D
(d) =R =90D

60. 9tan” 0 + 4 cot® 6 T HoUAH WA FT & 7
(a) 6
by 9
(@ 12
(d 13

—-A)



If xsinB=ycos08= 2ztan6

61. = then what is
1-tan“0
472 (2% + yz}l equal to 7
(@) (x2+y2?
b  (x2-y2?
¢) (x2-y2?
(d) (=2+y%?
62. If cos 6, + cos B, + cos 65 = 3, then what is
sin 6, + sin 6, + sin 8, equal to ?
(a) 0
b) 1
(c) 2
(d) 3
63. What is the value of 8 which satisfies the
equation cos 0+ tan =1 ?
{a) 0©°
(b 30°
(c)  45°
(dy 60°
64. What is the value of
; 1 1
Bln X + ?
\]1 +cosx l-cosx
(a) 2
b 242
(e) +2tanx
d 0
BLS-S-FDE

65.

67.

(18-A)

4 . i
cos” A — sin®* A
5 equal to ?

What is 3
cos“A — sin“A

(a) eos®A —sin® A

(b) cosA—ginA

If 7sin®x+8cos®x=4, 0<x<90° then
what is the value of tan x 7

(a) 2
by 1
V3
(c) ?
1
d) —
V3

An aeroplane flying at a height of 300 m above
the ground passes vertically above another
plane at an instant when the angles of
elevation of the two planes from the same
point on the pground are 60° and 45°
respectively. What is the height of the lower

plane from the ground ?
(a) 10043 m
100
(b)
B
(¢ 5043m

(d) 150(+3+1)m



1.

2 L]
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2z tanf
1—tan?@
422 (x% +v%) Tores aqE 2 7
(a) (x24y23
(b) (x%—y%)?

€ (x2-y%?

g

EFE XsinB=ycog b=

(d) (%% + y?)?

qﬁ’cusﬁl+cnsﬁz+msﬁa=3 2,

| sinﬂl+ainﬂﬂ+sin93ﬁiﬂaiﬁﬁ|{%.?

(a) 0
b) 1
gy 2
(d) 3

B %l DIH-HT A GHIHT cos 6 + tan 6 = 1 &I
s T 8 7

(a) 0O°
(b)
(e) 45°
(d)

30°

60°

A TR 7

. n 1

8in X +
J1+m5x. 1—cosx

V2

() 242

(a)

(c) +2tanx

(d) 0

65.

67.

(19-A)

(@ J2
by 1
J3
(0} ?
1
d —
NE

4 s 4
s A—sm A m
TE R ?
cos? A — sin? A

(a) cos?A—sin®A

(b) cosA—sin A

Eiﬁ T5m2x+3cuszx:4,ﬂ-¢x{9ﬂ"%, Gl
tan x o1 HF #4187

T FATE WE, 9 Ui 8 300 m T T W
3z @ 2, foredi & W U gEt BT wEW &
Sl FU Y AT & | I U O U 6 U
@ fag & Mt g St % IEE W07 A
60° T 45° & | 9 A gA1§ Fard i 9@ ®
ST TR 7

(a) 100V3m
100

by —
.,4|"§ m

(€) 50+43m

(d) 150(43+1)m



Ifx=acosB+bsin®andy=asin6-bcosb,
then what is x? + ¥ equal to ?

(a) 2ab
(b} a+b
(¢) a®+b”
@ a%-b®
69. From the top of a building 90 m high, the
angles of depression of the top and the bottom
of a tree are 30° and 45° respectively. What is
the height of the tree ?
(a) 3043m
(b) 90-30v3m
(€ 90+3043m
(d) 60+30v3m
70. Which one of the following triples does not
represent the sides of a triangle ?
{a) (3,4,5)
(b) (4,7,10)
(e} (3,6,8)
(dy (2,38,6)
71. If the perimeter of a rectangle is 10 cm and
the area is 4 cm?, then its length is
(a) 6Gem
(b) 5em
(e) 4-5em
(d) 4cm
‘BLS-S-FDE

T2,

T3.

74.

5.

(20-A)

The angles of a triangle are in the ratio
2 :4: 3. The smallest angle of the triangle is .

(a) 20°
(b)  40°
(¢ b50°
(d) 60°

A ball of radius 1 ¢cm is put into a cylindrical
pipe so that it fits inside the pipe. If the length
of the pipe is 14 m, what is the surface area of
the pipe ?

(a) 2200 square cm
(b) 4400 square em
(c) 8800 square cm

(d) 17600 square cm

The areas of two circular fields are in the ratio
16 : 49, If the radius of the bigger field is 14 m,
then what is the radius of the smaller field ?

(a) 4m
(b} 8m
(e 9m
(d) 10m

Let ABCD be a rectangle. Let P, Q, R, S be the
mid-points of sides AB, BC, CD, DA
respectively. Then the quadrilateral PQRS is
a

(a)
(b)
(¢) Rhombus, but need not be a square

(d)

Square

Rectangle, but need not be a square

Parallelogram, but need not be a
rhombus



68. I x=acosh+bsind R

69.

70.

T1.
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y=asinB-bcos 0 B, T x%+y" Toheeh U
27

2ab

a+b

(¢ a+b?

(d) a?-b?

foret 90 m St v ARA & YW H H gy &
i 3T 9 % GIHA R HAM: 30° W 45°
FlgmA Su e 2 7

3043 m
90 -3043m
(¢) 90+3043m

60 +304/3m

Fraffm # & Fa s e A et
I 77 Al & ?

(a) (3,4,5)
(b) (4,7, 10)
(¢) (3,6,8)

(2, 3,6)

At wF T w GRAM 10 em I AFEA

4cm2%,?haadﬁaﬁ1%w% 7
(a)
(b)
(e) 4-5cm
(d)

6 cm

5 cm

4 ¢m

2.

3.

4.

5.

(21-A)

fereft s & wivi 1 U 2:4:38 1 3@
forge = wed e w &

(a) 20°
mﬂ-
) a0°

60°

foret SR 9T H 1 om FiSE AT ww TR
sreft E ® i gt we fre @ wd # ) AR
9159 I THEE 14 m F, T U5 H T ST
o g 2

(a) 220097 cm
4400 9 em
(¢) 8800 em

17600 97 em

2 gETHR @Al % BTGl w1 I 16: 498 |
afe 92 @d & B 14 m &, 9 SR @d 6
EECIECEI A

a) 4m

(
(b
(
(

Bm

T’

c) 9m

d} 10m

7 ofifsw ABCD v @1 2 | afe yansit AB,
BC, CD, DA % meA.fog %99 P, Q, R, S &,

g PQRS 74T 2 ?

(a) @

(b) I, foheg &t B smavges TE
(¢) THEgHd, feg =t g smavas T

(d) wHER T, g wmege g v
LG



Let P, Q, R be the mid-points of sides AB, BC,

76.
CA respectively of a triangle ABC. If the area
of the triangle ABC is 5 square units, then the
area of the triangle PQR is
5 *
(a) 3 Square units
(b) 2 square units
242
5 ;
(c) Z square units
(d) 1 square unit

77. If each of the dimensions of a rectangle is
increased by 200%, the area is increased by
(a) 300%

(b) 400%
() 600%
(d) BOO0%

78. Three circles each of radius 3:5 cm touch one
another, The area subtended between them
is
(a) 6(3n—2) square units
(b) 6(2rn—-+3) square units
(e) Eﬁ_g (24/3 — 1) square units

49 = :
(d) T (+3 — n) square units
BLS-S-FDE

79,

80.

81.

(22-A)

The area of a regular hexagon of side ‘a’ is

equal to
2 o :
(a) .y a“ square units
(b) % a2 sguare units
)i :
{c) 3 a“ sguare units
(d) E a? square units

2

ABCDEF is a regular polygon. Two poles at C
and D are standing wvertically and subtend
angles of elevation 30° and 60° at A
respectively. What is the ratio of the height of
the pole at C to that of the pole at D ?

(a) 1:1

(b) 1:243
() 248 :1
d 2:43

Two parallel chords of a circle whose diameter
ig 13 em are respectively 5 em and 12 em in
length. If both the chords are on the same side
of the diameter, then the distance between
these chords is

(al 55cm
(b} 5em
{(c) 35cm
(d) 3em



76. TH iy fRet Brys ABC &t womsii AB, BC,|79. T WW weyW W gEwd, Ry @ R,
CA & Weafirg %7W: P, Q R ¥ | 3R finw forE s & 7
ABC 1 &% 5 911 518 8, a1 B35 PQR #1

E%d FRhaT & 7 (a) ?agﬁ?ﬁﬂé
(a) -E-Hﬁsﬁﬁlﬁ b 3B .2 ot v
- %‘ﬁm @ ga? @i wd

© 2 g | @ —“’Ewaﬂaﬁswé
@ 1ot g

80. ABCDEF U# @H 984S 8 | CdY1 DW g @%
FeaitR @2 ¥, St A W HET: 30° 3R 60° F
77. Afg Forelt ammm it wedisk Yo il G919 H 200% IAI B SaRd H@ E | C W G @Y

w1 fea s, A dawer fva g smom 2 Sand ot D w w3 @ h F=E H1 S =
(a) 800% X
(b)  400% (@) 1:1
© 600% b 1:248
() 800% (€0 243 :1
(d) 2:43

78, o g, fedt & wem B Bowr 95 en X,
TheW H v W ¥ | IF 9 A |1, ww g, RmEer =W 13 em &, 6 @ @EEw

A foR R 7 Sftenatl i oA FU: 5 om 31X 12 em B | AR
(a) 6(J3r-2) = 5H1e gHT Sftar =W F @ @ #, 9 5 Sfaned
¥ ora i g Reet 2 2
(b) 6 (2n—+3 )= 5T
(a) 55cm
(c) %gczﬁ-n}aﬁtmé () 5em
{e) 35cm
@ %{J‘-n}aﬁs«-ﬂi ——

BLS-S-FDE (23=A)



83.

85.

If the radius of a right circular cone is
increased by p% without increasing its height,
then what is the percentage increase in the
volume of the cone ?

(a) p°
(b) 2p?
2
B
{c) 150

= 'l
(d) p[ﬁ + 100]

A mpﬁer wire when bent in the form of a
square encloses an area of 121 em?. If the
same wire 15 bent in the form of a circle, it
encloses an area equal to

(a) 121 em?
(b) 144 em®
(c) 154 cm?
(d) 168 em?

ABC is a triangle and D is a point on the side
BC. If BC=12¢m, BD=9cm and
ZADC = 2 BAC, then the length of AC is
equal to

(a) Secm
(b) 6cm
(¢} 8ecm
(d) 9ecm

If the surface area of a sphere is reduced to
one-ninth of the area, its radius reduces to

{(a) One-fourth
(b) Omne-third

{c) One-fifth
(d) One-ninth
BLS-S-FDE

86. In a trapezium ABCD, AB is parallel to CD

B7.

(24-A)

and the diagonals intersect each other at O.
What is the ratio of OA to OC equal to ?

{(a) Hatio of OB to OD
(b) Ratio of BC to CD
{c) Ratio of AD to AB

{d) Ratio of AC to BD

Ice-cream, completely filled in a cylinder of
diameter 35 cm and height 32 cm, is to be
identical
disposable cones of diameter 4 em and height

served by completely filling

7 cm. The maximum number of persons that
can be served in this way is

(a) 950
b) 1000
(© 1050
@ 1100

The radius of a circle is increased so that its
circumference increases by 15%. The area of
the circle will increase by

(a) 31-256%
(b) 32:25%
(e} 3326%
(d) 34-25%



83.

84I

B5.

BLS-S-FDE

@ p[2+L]

IfE o wra-geig ws i F=18 # 9fg feu R
Igl = p% T A I, A AT F e o
T wferara ofg @it 2 2

{a) 1?2

(b) 2p?

2

(7
“ 100

100

4f¢ dfd & T ) & o & 9§ Or= 7w 8,
T 3HE 121 em? BF%e diwg g 2 | afy g6
aR ! U% g9 * €9 § Hier 9 8, 9 569
o ufEg s fRaar 2 9

(a) 121 cm®

(b) 144 cm?
(¢) 154 cm?
(d) 168 cm?

ABC tF iy 8 oft w1 BC W s fg
D% | 3 BC = 12 ¢m, BD = 9 cm 3R
Z ADC = # BAC R, @ AC &I wirang == gnft 2

(a)
(b}

5 em
6 cm
(e} 8em
(d)

afg et e @1 gdie dFed wee 36
gA%E w1 A fFEm e s g, @ wE
e forert we st 2

(a) U=

(b) usk-faEs

(c) Wk = yiEEl e
(d) U T AT T

Oem

86, T% Tow (iAW) ABCD #, AB 3R cD

BT.

(25-A)

TR & AR fasol uw-gEt @ fag 0 W wen
2 | OA 3t OC =1 39T forads st @ 2

{a) OB 3N OD = HIE

(b) BC 3R CD &1 394
(¢) AD 3R AB &I 39

(d) AC 3 BD =1 31g9W

w ded (fuferet) #1 =@ 35 em 3 FEn
82 em ®, S oATEESHW & [ w0 gen ¥ | WE
HEEHNY I FF A @EE I e
i # gft Wt s S 8, e =
4 em 3 FuE 7 em B | AfA H a8
sAfteran Hem w0 2, o 5@ e smswshm
gt 1w 2

(a) 950
(b) 1000
(e) 1050
(d) 1100

U g I B agrE T faem g oftfy #
15% %1 9fg g5 | 99 * &mwa § e 9y
gt 2

(a) 381-256%
(b) 32-25%
(c) 33'25%_
(d) 34-25%



89. ABCD is a rectangle. The diagonals AC and |91. In the figure given below, D is the diameter of

BD intersect at 0. If AB = 32 em and each circle. What is the diameter of the shaded
AD = 24 cm, then what is OD equal to ? circle ?
(a) 22em
(b) 20 cm
(c) 18cm
(d) 16cm
(a) D(J2-1)

90. A field is divided into four regions as shown in
; : () D(V2+1)

the given figure. What is the area of the field
in square metres 7

(€0 D(N2+2)

2m 2 m (d D2-42)
=] O
1m
"b&
H  2m i ;
3m 92. In the figure given below, AC is parallel to ED
g m and AB = DE = 5 ¢m and BC = 7 em. What is
the area ABDE : area BDE : area BCD equal
Im to?
E 5 cm D
3
(a) B+ =46
4
A 5 ecm B 7 cm C
{b) E+%J§
(a) 10:5:7
(c) 9+%J1'5 b) 8:4:7
fe) 2:1:2
@ 7+242 (d) 8:4:5

BLS-S-FDE (26-A)



89. ABCD U% 3d ® | el Ac oftt BD uw-gat

BLS-S-FDE

H OW Fed & | A} AB = 32 em 3R
AD =24 ¢cm 2, 71 OD foress st 2 2

ta) 22 em

(b) 20cm

{c) 18cm

id) 16 cm

U W (Fies) B = w &= § fanfie fe

(Fieg) 1 gerwa = diex & frem 2 7

2m

1m

H  2m 3
m

dm

4m 7

.'[t:} 9+ g«uf'ﬁ

(d) T+ 242

o1. 9 &t 7 ampfi H, sAF W =W DR |

92.

(27-A)

DR g o1 o418 547 & 7

(a) D(J/2-1)

b) D((J2+1)
(¢ D(V2+2)

(d D@E-42)

=2 & 18 e #, AC ot ED wOR £, sl
AB=DE=5cm @ BC=7ecm % |

#A%d ABDE : &3%&1 BDE : &9%¢ BCD
foraeh syt 2 7

E 5 cm D
A 5 em B 7 em C

(a) 10:5:7
(b) 8:4:7
() 2:1:2
(d) B8:4:5



23.

BLS-S-FDE

In the figure given below, PQRS is a
parallelogram. PA bisects angle P and SA
bisects angle 5. What is angle PAS equal to 7

L]

(a) 60°
(b) 75°
(e) 90°
(d) 100°

In the figure given below, £ A = 80° and
Z ABC = 60°. BD and CD hisect angles B and
C respectively. What are the values of x and y
respectively ?

A

{a) 10 and 130

(b) 10 and 125
(e) 20 and 130

(d) 20and 125

95.

(28-A)

In the figure given below, PQR is a
right-angled triangle, right
angled at Q. If LM and QT are parallel and

QT = PT, then what is £ RLM equal to ?

non-isosceles

P
T
M

Q L R
(a) ZPQT
(by <« LEM
(e} < RML
(d) ~zQPT

In the figure given below, PQ is parallel to RS
and PR is parallel to QS. If © LPR = 35° and
Z UST = 70°, then what is ~ MPQ equal to ?

(a) 55°
(b) 70°
(e} 75°
(d) 80°



93.

94.
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4 & 7€ s H, PQRS U AR =g
2 | PA FIU PH a9T SA I S #i fowfa
w2 | T PAS Freds avand 2

P Q
{ N /
g R
60°
75°

(a)
(b)
(e} 90°

(d) 100°

= G T s H, £A =800 IR
ZABC=60°% | BD 3t CD %q91: S0 B 3t
wm C & fgwfom o+t § | x o y % om
W:W§?

A

(a) 103 130
(b) 103 125
(e) 2030 130
(d) 20 37T 125

95.

(29-A)

4= &t 7 amFfa 4, PQR Uw fammfgamg v
fryw 2, el ®iv @ wwwior % | 3R LM afk
QT Wi=R & 99T QT = PT 2, 4 ~ RLM fereah
TR ?

P
A4
M

Q L R
(a) ZPQT
ib) < LREM
ic) £ RML
d) < QPT

2 & 8 sl 4, PQ 3t RS wuww # AW
PR 3R QS =R & | ¥ 2 LPR = 35° 3R
£ UST =70° &, &t ~ MPQ forereh sqe 2 2

(a) 55°
(b} 70°
ey T8
(d) 80°



97. In the figure given below, ABC is a triangle
with AB = BC and D is an interior point of the
triangle ABC such that « DAC = £ DCA.

B

D

A C
Consider the following statements :
1.  Triangle ADC is an isosceles triangle.
2. D is the centroid of the triangle ABC.
3. Triangle ABD 1is congruent to the
triangle CBD.

Which of the above statements are correct ?
(a) 1and2only
(b) 2 and 3 only
() 1and 3 only
(d 1,2and3

98. In the figure given below, M is the
mid-point of AB and ZDAB = 2 CBA and
2 AMC = # BMD. Then the triangle ADM is
congruent to the triangle BCM by

C D
A M B
(a) SASrule
(b) SSSrule
(e) ASA rule
(d) AAA rule
BLS-5-FDE
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ABCD is a square. X is the mid-point of AB
and Y is the mid-point of BC.

Consider the following statements :

1.  Triangles ADX and BAY are congruent.
2. £ DXA=/AYB.

: DX is inclined at an angle 60° with AY.

4, DX is not perpendicular to AY,

Which of the above statements are correct 7

(a) 2,38 and4only
(b) 1,2 and 4 only
{(c) 1,3 and4only
(d) 1and2only

From an aeroplane vertically over a straight
horizontal road, the angles of depression of
two consecutive kilometre-stones on the
opposite sides of the aeroplane are observed to
be o and fi. The height of the aeroplane above
the road is

(&) tano + tan

tan o tan p
(b) tan o tan
tan o + tan B
© cot o cot [

cot o + cot B

cot o + cot B

L cot o cot B
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= & ® ampfy #, ABC wH fyw ¥ Rt
AB = BC® 7o fiyst ABC # us ar=fies farg
D3 YR 8 fF ~ DAC=,DCAZ |

B
D
A C
Frefafas syt w e Fif .

1. Y9 ADC u% anfgamg By § |

2, BYS ABCHFI HEF DR |

3. Y99 ABD 3 g cBD watmm # |
I el § & FHA wd E 2

(a) hae 13K 2

(b) ee 2 3R 3

(¢) <hael 1371 3

(d 1,2 3R3

= @ apfa 4, AB ® werfag MR qun
ZDAB=./CBA® 3 - AMC =~ BMD 2 |
79 By ADM 3R B9 BCM Fem frem @
watmem § ¢

; C D

sAS fam
sss frm
ASA Fam
AAA Tram

(a)
(b)
(e
(d)

%I
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ABCD T a7 8 | AB %1 #ea-famg X 2 @en1 BC
F A fag vR |
Freferfaa ot = fem fife

s ADX 3R BAY walnam & |

1.
2. £ DXA= . AYB.

3.  AY H1¥ DX, 60°h I 9T A 2 |
4. AYW DX @« 78 8 |

I wUAl H A wE w0

(a) had 2,33 4

(b) HEe 1,234

(¢) haw 1,334

(d) Hae 132

wh Hift dfow wge & st s =\
wEr ®, o HarE Freider ¥ ueert, S ward
wer & faata el A €, F a9 v o
3R p ifera T o # | wew % Hw gaT wETE
fIaE T e ?

tana +tan

(a)
tan o tan p

tan o tan p

) tan o + tan p

ootocootf

L oot o + mt'B

cot o + cot B

(d)
cot c cot 3
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*= HH &% o0 e
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wHS & F foro s
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& A & foT wg
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w= wH F fore s
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Note : English version of the instructions is printed on the front cover of this Booklet.
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